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I . Writc thc vcctor h = (2,-7,9) as a lincar cottrbittatioll o{' tlrc vectors I' t" lttld rt'
t";-r"1g 11 =(1,-1.2), v =(3,0,1), ri, =(1.-2.2).

t
h -- C1u + Czv + Clu

(2, -z,q) = 
c, (, -r, z)+ c, (t.o. ) 1 c, ( t,'z,z)

= (cr+tc7+\ 2-c, -2(7, zc,+rr*rr)
\

C1+3Cz +c7 J Z

-ct -zq : -7
7C1 +C2 1zc7 = f

Solu;, h ,-/^ , ,-, 1^/ ct : i, tz 
=-z , 

c3 |z

= 7(r-trz) - z(4o)az1'-ztz)

7U-zv+zt)

i' 0'*'')

2. Choose the correct answer:

The set S ={(3,1,0,2),(1,5,11,0),(3,3,3,1)} in R"is:
(a) a basis for .li 

4 (b) a spanning set for R 
o G) no, u basis (d) linearly dependent

15 !: I < + i.c' t vec'l,a,t ;n 1f u;il d tk Rq+S is 'ul a lan'

3. Show that the set offunctions {cosx,sinx } is linearly independent.

=l*o

w (as r, si^) = [1".,t;:l c 6t'x +9i,' x

:. farx,tux! is ha,/1 ;"/"12,


